| Epreuves :n° 6 Anglais

I- Reading Comprehension. (6 marks)
The text

/ Father, Mother and Bady Bear are in the kitchh

Mother Bear puts milk on the table.

“It’s too hot,” says Baby Bear.

So they go out for a walk.

A girl walks into the kitchen. She sees three cups of
milk. She picks up the little cup and drinks it.

Then she walks into the bedroom. She sees three beds.
She climbs into the little bed and goes to sleep.

The Bears walk in the house.

“There’s a little girl in our bedroom!” says Father Bear.
The little girl climbs out the window and runs away.

1- Reorder the story (2 marks)

* The little girl walks into the kitchen. [ ]
* The little girl goes to sleep. [ ]
* The little girl runs away. [ ]
* The bears go out for a walk. [ ]
2- Correct the following statements (3 marks)

a-Baby Bear can’t drink milk because it’s cold.

....................................................................................

....................................................................................

....................................................................................



3- Circle the correct answer. (1 mark)
a- the mother’smilk. ~ - The little girl drinks: -
b- the father’s milk. |
c- the baby’s milk.
a- 1s one cup. On the table there
b- are two cups.
c- are three cups.

I- Language: (8 marks)
1- Match pictures with words: (2 marks)

* He’s brushing his teeth.

* He’s playing tennis.

* She’s writing an e-mail.

* He’s washing his face.
2- Fill in the blanks with words from box: (3 marks) (there is one extra word)
|candles / birthday / clothes / presents / happy / song / trousersl

My name is Kate. Today ismy ............... I’m wearing new ............... I’'m
wearing a pink dress, white socks and pink shoes. My friends and I are in the
dining room now. We are sitting on the chairs and singing the birthday
............... On the table there is a cake, orange juice, coke and many
............... On the cake there are twelve ...............Pmvery ...............



3~ Circle the correct answers: (3 marks)
Amine is a piipil in Thamer School. He is (Tunisia / Tunisian). He is from
Sousse. His favourite aciivity (are/ is) playing music. His father (likes / like)
(play / playing) music, too. (On / In) Sunday, They (go / going) to a music
school to study.

II-

Writing: (6 mks)

1- Reorder the dialogue: (2.5 mks)

Ok![ ]

How much isit? [ ]

Can I help you? [ |

I"d like a kilo of pears, please? [ ]
It’s two Dinars? [ ]

2- Match the questions with the answers: (2.5 marks)

a- No, I don’t.

b- It’s on Wednesday.
c- No, he isn’t.

d- five.

e- red and blue

3- Reorder the letters. (1 mark)

s-r-e-s-u-o-r-T a-n-g-e-r-O w-1-1-Y-o0-¢ u-r-S-a-y-a-t-d

.......

...............................................................



